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Heat capacity
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Critial exponent

Specific heat C, order parameter W, susceptibility x and correlation length &.
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In ising model we have W = (o) and y = —
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Two laws,
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V= 7 where d is dimension of space
Bubble
If we have a bubble of phase Il with free energy density f » in the sea of phase I with free energy density f 1
and f2 < fl .
Then the free energy difference is
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If < 0, then R > = R.. That means when bubble is big, it will grow bigger to get lower free

1= f 2
energy, when bubble is small, it will shrink to get lower free energy.



